
8822 8822.5 8823 8823.5 8824
cyclenum

1−
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0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
cyclenum

2

2.5

3

3.5

4

al
ph

a4
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4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta
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_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7353}
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cyclenum

0.8−
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0.4−
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0

0.2
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lta
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4e

Y

delta46_12X4eY:cyclenum {run == 7353}
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run:cyclenum {run == 7353}
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segment:cyclenum {run == 7353}
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98.5−

98−

97.5−

97−
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1X
usl_1X:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
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3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4
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l_

4a
Y

usl_4aY:cyclenum {run == 7353}
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cyclenum

35.5
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36.5
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l_

4e
X

usl_4eX:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
cyclenum

15

15.5

16

16.5

17
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l_

4e
Y

usl_4eY:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
cyclenum

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

36.4−

36.2−

36−

35.8−

35.6−
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l_

12
X

usl_12X:cyclenum {run == 7353}
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n

run:cyclenum {run == 7353}



8822 8822.5 8823 8823.5 8824
cyclenum

150−

149.5−

149−

148.5−

148−us
r_

1X

usr_1X:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
cyclenum

6.5

7

7.5

8

8.5
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r_

4a
Y

usr_4aY:cyclenum {run == 7353}
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cyclenum
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r_

4e
X

usr_4eX:cyclenum {run == 7353}
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cyclenum

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

9.6

9.8
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r_

4e
Y

usr_4eY:cyclenum {run == 7353}
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cyclenum

38−

37.5−

37−

36.5−

36−us
r_
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X

usr_12X:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
cyclenum
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n

run:cyclenum {run == 7353}
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32562.2

32562.4
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32562.8

32563

32563.2
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l_
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usl_coil1:cyclenum {run == 7353}
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6636

6636.2

6636.4

6636.6
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usl_coil3:cyclenum {run == 7353}
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cyclenum

4026

4026.2

4026.4

4026.6

4026.8

4027

4027.2

4027.4
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4027.8
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4028.2
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usl_coil4:cyclenum {run == 7353}
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654.5−
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usl_coil6:cyclenum {run == 7353}
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cyclenum
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14039.8

14040
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14040.6
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l_
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usl_coil7:cyclenum {run == 7353}
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run:cyclenum {run == 7353}
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27643−

27642.5−

27642−
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27641−
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il1

usr_coil1:cyclenum {run == 7353}
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5536.8−
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5536.2−
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5535.8−
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usr_coil3:cyclenum {run == 7353}
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cyclenum

3762.6
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3763
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3763.4

3763.6
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3764.8
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il4

usr_coil4:cyclenum {run == 7353}
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cyclenum

860.8−
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860.4−

860.2−
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859.8−

859.6−
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858.8−

858.6−
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il6

usr_coil6:cyclenum {run == 7353}
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17982
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usr_coil7:cyclenum {run == 7353}
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8822 8822.5 8823 8823.5 8824
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424.5−

424−
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422.5−1X
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1X_coil1:cyclenum {run == 7353}
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cyclenum

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−
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1X_coil3:cyclenum {run == 7353}

8822 8822.5 8823 8823.5 8824
cyclenum
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30.5
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1X_coil7:cyclenum {run == 7353}
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484.8−

484.6−

484.4−

484.2−
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483.8−
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483.2−
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482.8−
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X
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4eX_coil1:cyclenum {run == 7353}
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cyclenum

94−

93.5−

93−
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92−
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X
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4eX_coil3:cyclenum {run == 7353}
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4aY_coil4:cyclenum {run == 7353}
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Y
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4aY_coil6:cyclenum {run == 7353}
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8.5−
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Y
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4aY_coil7:cyclenum {run == 7353}
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4eY_coil4:cyclenum {run == 7353}
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5.2−
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239.5−
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12X_coil1:cyclenum {run == 7353}
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86.4−
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86−

85.8−

85.6−
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85−
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84.2−
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X
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run:cyclenum {run == 7353}
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